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KABHHETOB 2 | =2 |2 |2 | "H|e | |< |®8|A@AlE |EBE | " |83
1 | KabuneTtsl 15/ | 15/ | 15/ | 15/ | - 15/ | 15/ | 15/ | - - - - 15/
HavaJIbHOH IIKOJIBI 15 8 15 3 6 9 5 12
2 | Kabunersr pycckoro | 3/3 | 3/3 |3/3 |3/1 |- 31 |31 |- - - - - 372
SI3bIKA
3 | Kabuner 5/5 |5/5 |5/5 |51 |- - - - - - - - 5/4
MaTeMaTHKU
4 | Kabuner ¢puzuku /1 | /1 [ 1/1 | 1/1 |- /1 |- - - - - /5 |-
5 | KaGuner xumun /1 | - 1/1 | - - - - - - - - 1/5 | 1/1
6 | Kabuner 6uosornu 1/1 1/1 1/1 1/1 1/1 1/1 /1 | - - - - - -
7 | Kabuner 4/4 |41 | 4/4 | - - - 472 | 41 | - - |42 - 4/4
HWHOCTPAHHOTO SI3bIKa
8 | Kabuner ucropuu 22 2722 1272 |21 |- 2/1 |24 |- - - - - 2/1
9 | Kabuner reorpadun /1 |11 [yt 1 |- - - - - -
10 | Kabuner 3/ 2/3 (222 (22 |- - - - - |2/ ]- - -
nHpopmaruku U UKT | 42 2
11 | Kabuner uepuennssu | 1/1 | - | /2 R B V2 B - - - - - - - -
n30
12 | bubnuoreka /3 (12 (121 |- - /1 | /1 |- - - - - 11
13 | Macrepckue 2/1 | - 2/1 | - - - /1 | - - - - - 2/1
14 | Kabuner 2/1 |21 |21 |- - - - - - - - - 2/1
JIOMOBO/ICTBA
15 | CunopTuBHBIH 3a1 2
16 | AxTOBBIH 3a1 1/1 1/1 1/1 1/1
17 | I'pynmoBast komMHaTa
(w1 10Y)
18 | My3BIKaNbHEIH 327
(a1 10Y)
19 | ®u3kyneTYpHBIH 321
(w1 10Y)
20 | Kabuner noromnena 1/1 | 1/1
21 | Kabuner ncuxosora 1/1 1/1 1/1




